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S (Cent
» ;Z..)f Can

Enter the value of the mass (kg) : 1

frob. R3IF(a)

m=

Fnter the value of the danmping coefficient (N.s/m) : 4

C =

Enter the value of the spring constant (N/m) : 1

k =

Enter the value of the initial position {m) : O

xl =

Fnter the value of the initial velocity (w/s) : 1

vl =

6.2832
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2-3F Cotf

Enter the value of time increment in seconds ( < T as akbove )
&t =
0.5000

Enter the value of the initial time in seconds (0) : O

£l =

Inter the value of the final time in seconds : 10

tf =
10

ans =
Time Displ. Vel.

ang =

0 0 1.0000

0.5000 0.1667 0.2526
1.0000 0.1953 0.0360
1.5000 0.1856  -0.0235
2.0000 0.1667  -0.0368
2.5000 0.1471  -0.0371
3.0000 0.1280  -0.0339
3.5000 0.1130 -0.0301
4.0000 0.0988 -0.0264
4.,5000 0.0864 -0.0231
5.0000 0.0756  -0.0203
5.5000 0.0661 -0.0177
6.0000 0.0578 -0.0155
6.5000 0.0506 -0.0136
7.0000 0.0442 -0.0119
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A =3 F Vot
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diis =

. 5000 0.0387 -0.0104
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.5000 0.02%6. -0.0079
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. 0000 0.0198  -0.0053
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o
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» L — 3IF (Cent
Enter the value of the mass (kg) : 1

m =

|-

Enter the value of the damping coefficient (N.s/m)

C =

mter the value of the spring constant (N/m) : 1

k=

Fnter the value of the initial position (m) : 0O
bl —

0
mter the value of the initial velocity (m/s) : 1

vl =

o

6.2832
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X —iF CLar
Enter the value of time increment in seconds ( < T as above )

.5
dc =
0.5000
Enter the value of the initial time in secords (0) - O
£l =
0
Fnrer the value of the final time in seconds : 20
tf =
20
Displacemen Vs. Time
0.6 T T T T 1 1 T 1
0.4F -
€
QO
E
8
«
&
5 02 B !
0_
0 2 4 6 8 10 12 - 14 16 18 20

Time
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Time

0
. 5000
.0000
.5000
.0000
.5000
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.5000
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.5000
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.5000
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.5000
.0000
-5000
.0000
.5000
.0000
.5000
.0000
.5000
-0000
.5000
L0000
. 5000
.0000
.5000
.0000
.5000
.0000
.5000
. 0000
. 5000
.0000
.5000
.0000
.5000
. 0000
.5080
. 0000

A T53-F Cont

Displ.

0 1
L3776 0
.5340 0
.5258 -0
.41%6 -0
2743 -0
L1332 -0
0219 -0
.0499 -0
.0838 -0
.0882 0
.0739 0
.0510 0
.0272 0
.0076 0
.0058 0
.0128 0
0146 -0
0129 -0
L0093 -0
.0054 -0
L0020 -0
.0005 -0
0019 -0
.0024 -0
.0022 0
.0017 0
.0010 0
.0004 ¢
.0000 0
.0003 0
.0004 0
.0004 -0
.0003 -0
.0002 -0
0001 -0
.0000 -0
.0000 -0
.0001 -0
.0001 Q
.0001 0

. 0000
.5182
. 1260
1363
L2692
.2980
.2580
.1840
.1036
.03438
L0136
.0404
.0488
.0446
.0334
.0202
.0082
.0006
.0058
.0079
L0076
.0060
.0038
.0018
.0002
.0008
.0012
.0013
.0011
.0007
.0004
.0001
.0001
.0002
.0002
.0002
.0001
.0001
.0000
.0000
.0000

vel.
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L~ 5F Ueat

maximam amplitude

0.5340

> Prob A3+ (0 )
Enter the value of the mass (kg) : 1

m =

mter the value of the damping coefficient (N.s/m) : 2

C =

Enter the value of the spring constant (N/m) : 1

k=

Enter the value of the initial position (m) : 0

x1 =

Enter the value of the initial velocity {m/s) : 1

vl =

26



1~ 37 Cons

Natural period

6.2832

Enter the value of time increment in seconds ( < T as above )
dc =

(.5000

Enter the value of the initial time in seconds (0) : O

£l =

Enter the value of the final time in seconds : 20

tf =
20
ans =
Time Displ. Vel.
dlis =
0 0 1.0000
0.5000 0.3021 0.3047
1.0000 0.3666 0.0016
1.5000 0.3337 -0.1103
2.0000 0.2699 -0.1344
2.5000 0.2047 -0.1225
3.0000 0.1491 -0.0992
3.5000 0.1055 -0.0752
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R-3F Cear

4.0000 0.0732 -0.0548
4.5000 0.0500 -0.0388
5.0000 0.0337 = -0.0269
5.5000 0.0225 -0.0184
£.0000 0.01492 -0.0124
6.5000 0.0098 -0.0083
7.0000 0.0064 -0.00%5
7.5000 0.0042 -0.0036
8.0C00 0.0027  -0.0024
8.5000 0.0017 -0.0015
9.0000 0.0011 -0.0010
9.5000 0.0007 -0.0006
10.0000 0.0005 -0.0004
10.5000 0.0003 -0.0003
11.0000 0.0002 -0.0002
11.5000 0.0001 -0.0001
12.0000 0.0001 -0.0001
12.5000 0.0000  -0.0000
13.0000 0.0000 -0.0000
13.5000 0.0000  -0.0000
14.0000 0.0000  -0.0000
14.5000 0.0000 -0.0000
15.0000 0.0000  -0.0000
15.5000 0.0000 -0.0000
16.0000 0.0000  -0.0000
16.5000 0.0000  -0.0000
17.0000 0.0000  ~-0.0000
17.5000 0.0000 ~-0.0000
18.0000 0.0000  ~-0.0000
18.5000 $.0000  -0.0000
19.0000 0.0000  -0.0000
19.5000 0.0000 -0.0000
20.0000 0.0000 -0.0000

0.3666

»
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Displacement Vs. Time
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’ - —ul b
% z € w"‘t4[1— w,‘t] or & (rrat]=.os7
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"~ T 23,17
2~ 47
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: wt, = m—— = 37-37 ﬁ-/:"
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St
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lz - v
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